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£ R R - K& B % = i & ) =
B R 2,206, 700 + 35, 557 2,242, 257
EEAGE 2, 206, 700
EEEE 35, 557
Z Dt R il 2,206,700 x 53.85% (0.35 . (1 —0.39) 1,188, 307
E TR 2,242,257 + 1,188, 307 3, 430, 564
—BEEE (nKFAEE) 3,430,564 x 53.85% (0.35 . (1 —0.39) 1,847, 358
FIEME (SmEEERD 3,430,564 + 1,847, 358 5,271,922

—REEE 1,847,358 - 7,922 1, 839, 436 im £ 57 22

E ek 3,430,564 + 1,839, 436 5,270, 000
HEBEHYE 5,270,000 x 10.00% 527, 000
EZCEHEE 5,270,000 + 527,000 5,797, 000
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2,206, 700
BRTER
Y 1, 495, 500
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ER 299, 100 1, 495, 500
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- Y 351,000
B
73 - 95, 400 95, 400
EEEES
" = 95, 400 95, 400
RmE
= o 160, 200 160, 200
GELT
Y 360, 200
EBxREE R
% % 341,000 341,000
AEFRRE R DT
: 19,200
__ Y 19, 200
35, 557
EBARE
5 = 18, 557 18, 557
EBRERE
" . 17,000 17,000
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BE 1
R 1 EENY
# 38 - Boktik B 5 & B @ # % =
FEHEED A 0.5 64, 800 32,400
HEf (A) A 1.5 57,000 85, 500
HEf (B) A 1.5 47,200 70, 800
HEfi (C) A 2.0 38, 400 76, 800
Hit g A 1.0 33,600 33,600
= it YEERES : 1.0018H 299, 100 299, 100
&2 2
ES LT 1 B8y
# 38 - Pok<tik B 5 & B @ ;ﬁ % =
HEf (A) A 1.0 57,000 57,000
HEfi (C) A 1.0 38, 400 38, 400
= it YEERES : 1.00[H 95, 400 95, 400
&2 3
PRI 1| BNy
# 3B - PRtk B 5 & B i @ # % =
HEf (A) A 1.0 57,000 57,000
Hffi (C) A 1.0 38, 400 38, 400
= it YEERES : 1.00[H 95, 400 95, 400




AR iE ENEEHAEHEERES
&2 4
BIREE —
% # 38 - Boktik B 5 & ff @ w = % =
FEHEED A 1.0 64, 800 64, 800
HEf (A) A 1.0 57,000 57,000
HEfi (C) A 1.0 38, 400 38, 400
= it YEERES : 1.00[H 160, 200 160, 200
&2 .5
% B R 1 sty
% # i - Pok<tik B 5 & ff @ w = % =
FEEED A 1.0 64, 800 64, 800
HEf (A) A 1.0 57,000 57,000
HEf (B) A 2.0 47,200 94, 400
HEfi (C) A 1.5 38, 400 57, 600
Hit g A 2.0 33,600 67,200
= it YEERESD - 1.00K 341, 000 341, 000
£2 6
ABEIARES DR 1 sty
% # 38 - PRtk B 5 & ffi @ = % =
HEfi (C) A 0.5 38, 400 19, 200
= it YEERESD - 1.00K 19, 200 19, 200
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B2 .7
SHEALE 1 sty
% # 38 - Boktik B 5 & ff @ # % =
EBEASE = 1.0 18, 557 18, 557
= it YEERESD - 1.00K 18, 557 18, 557
2 8
LERELE 1 sty
% # A - Boktk B 5 & ff 4 # % =
EXBRERE = 1.0 17,000 17,000
= it YEERESD - 1.00K 17,000 17,000




